éd SHREE .
&\, TUTORS Gradient

Name-_ _ Starttime-_ _:__ End time-_ _:

Calculate coordinate gradient.

1. Calculate the gradient of the line joining A (-3,2) and B (2,12).
2. Theline joining C(4,-2) and D (0, p) has a gradient of -3.

Calculate the value of p.

3. Calculate the gradient of the line joining E (g,;) and F (9 1—5).

2’ 2
4. Calculate the gradient of the straight line joining the following

pairs of points.

a. A(2,1)andB (3, 4)

b. C(-1,6)andD (0, 4)

c. E(-1,-3)andF(1,5)
d. G(-7,2)andH (-4, -1)
e. J(-2,5)and K (1, 7)

f. M(-7,3)and N (-3, -2)
g. R(-11,4)and S (-2, -8)
h. T(-9,-10)and U (-3, 5)

5. Aisthe point (5,1) and B is the point (8,y). Find x if m,p = 2.

6. Cisthe point (-1,7) and D is the point (x,-5). Find y if mqp = — 2

7. Eisthe point (g , %) and F is the point ( % Y). Findy if mgp = —%.
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